MATHS

NCERT - NCERT MATHS (GUJARATI
ENGLISH)

COORDINATE GEOMETRY

1. What is the distance between A (4,0) and B

(8, 0).


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wIp7R40bpkLp

° Watch Video Solution

2. A and B are two points given by (8, 3), (-4, 3).

Find the distance between A and B.

o Watch Video Solution

3. Let’s find the distance between two points

A(4, 3) and B(8, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_wIp7R40bpkLp
https://dl.doubtnut.com/l/_PsgscZLoZsiu
https://dl.doubtnut.com/l/_pQtVf5jErYbb
https://dl.doubtnut.com/l/_udWi6MR5on4e

4, Show that the points A (4, 2), B (7, 5) and C

(9, 7) are three points lying on a same line.

o Watch Video Solution

5. Do the points (3, 2), (-2, -3) and (2, 3) form a

triangle?

° Watch Video Solution



https://dl.doubtnut.com/l/_udWi6MR5on4e
https://dl.doubtnut.com/l/_uS5crDDOy3mF

6. Show that the points (1, 7), (4, 2), (-1, -1) and

(-4, 4) are the vertices of a square .

o Watch Video Solution

7. The figure shows the arrangement of desks
in a class room. Madhuri, Meena, Pallavi are
seated at A(3, 1), B(6, 4) and C(8, 6) respectively.

Do you think they are seated in a line ? Give


https://dl.doubtnut.com/l/_uFKkQtegTIwG
https://dl.doubtnut.com/l/_G6nozsXrbxm8

reasons for your answer.

1o

o Watch Video Solution

8.Find the relation between x and y such that

the point (x, y) is equidistant from the points


https://dl.doubtnut.com/l/_G6nozsXrbxm8
https://dl.doubtnut.com/l/_YT83gUPM82Ey

(7,1) and (3, 5).

o Watch Video Solution

9. Find a point on the Y-axis which is
equidistant from both the points A(6, 5) and

B(- 4, 3).

o Watch Video Solution

10. Find the coordinates of the point which

divides the line segment joining the points (4,


https://dl.doubtnut.com/l/_YT83gUPM82Ey
https://dl.doubtnut.com/l/_mBWxejMcajDZ
https://dl.doubtnut.com/l/_tVtwdKP544Mf

-3) and (8, 5) in the ratio 3 : 1internally

o Watch Video Solution

11. Find the mid point of the line segment

joining the points (3, 0) and (-1, 4)

° Watch Video Solution

12. Find the coordinates of the points of
trisection of the line segment joining the

points A(2,-2) and B(-7, 4).


https://dl.doubtnut.com/l/_tVtwdKP544Mf
https://dl.doubtnut.com/l/_p4mueG9MhCg1
https://dl.doubtnut.com/l/_t14QLhEOs91v

° Watch Video Solution

13. Find the centroid of the triangle whose

vertices are (3, -5), (-7, 4) and (10, -2).

o Watch Video Solution

14. In what ratio does the point (- 4, 6) divide
the line segment joining the points A(- 6, 10)

and B(3, - 8)?

o Watch Video Solution



https://dl.doubtnut.com/l/_t14QLhEOs91v
https://dl.doubtnut.com/l/_hg6Du6CEdMzW
https://dl.doubtnut.com/l/_f4GLd6SmgvnA

15. Find the ratio in which the y-axis divides
the line segment joining the points (5,-6) and

(-1,-4) . Also find the point of intersection.

o Watch Video Solution

16. Show that the points A(7, 3), B(6, 1), C(8, 2)
and D(9, 4) taken in that order are vertices of a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_f4GLd6SmgvnA
https://dl.doubtnut.com/l/_yNgeDS3QkybW
https://dl.doubtnut.com/l/_Ac31SEehFb2D

17. If the points A(6, 1), B(8, 2), C(9, 4) and D(p,
3) are the vertices of a parallelogram, taken

inorder, find the value of p.

o Watch Video Solution

18. Find the area of a triangle whose vertices

are (1,-1) (-4, 6) and (-3, -5).

° Watch Video Solution



https://dl.doubtnut.com/l/_QTF8bc3ASHsk
https://dl.doubtnut.com/l/_Qv0XGl74MLP3

19. Find the area of a triangle formed by the

points A(5,2), B(4,7) and C(7,-4).

° Watch Video Solution

20. If A(-5, 7), B(-4, -5) , C(-1, -6) and D(4,5) are
the vertices of a quadrilateral, find the area of

the quadrilateral ABCD

° Watch Video Solution



https://dl.doubtnut.com/l/_nsrmyUCUxlMo
https://dl.doubtnut.com/l/_KiRtU1vBVbKh

21. The points (3, -2) (-2, 8) and (0, 4) are three
points in a plane. Show that these points are

collinear.

o Watch Video Solution

22. Find the value of ‘b’ for which the points

A(1, 2), B(-1, b) and C(-3, -4) are collinear .

° Watch Video Solution



https://dl.doubtnut.com/l/_YRVyaDJnc5L2
https://dl.doubtnut.com/l/_4wOV57XROit8

23.The end points of a line segment are (2, 3),

(4, 5). Find the slope of the line segment.

o Watch Video Solution

24. Determine x so that 2 is the slope of the

line passing through P(2, 5) and Q(x, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_soHKVqO5cVOP
https://dl.doubtnut.com/l/_yydyUjkjdgwm
https://dl.doubtnut.com/l/_EyZbpvls75Qi

1. Find the distance between the pair of points

(2,3) and (4, 1)

o Watch Video Solution

2. Find the distance between the pair of points

(-5, 7) and (-1, 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_EyZbpvls75Qi
https://dl.doubtnut.com/l/_0a3xhs13ZMbd

3. Find the distance between the pair of points

(-2,-3) and (3, 2)

o Watch Video Solution

4. Find the distance between the pair of points

(a, b) and (-a, -b)

o Watch Video Solution



https://dl.doubtnut.com/l/_TiyypWJsKxYo
https://dl.doubtnut.com/l/_5ne7Um0sUFGZ

5. Find the distance between the points (0, 0)

and (36, 15).

o Watch Video Solution

6. Verify whether the points (1, 5), (2, 3) and (-2,

-1) are collinear or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_oQGZDSIzsnYa
https://dl.doubtnut.com/l/_zZpEZfRfG8qc

7. Check whether (5, -2), (6, 4) and (7, -2) are the

vertices of an isosceles triangle.

o Watch Video Solution

8. In a class room, 4 friends are seated at the
points A, B, C and D as shown in Figure. Jarina
and Phani walk into the class and after
observing for a few minutes Jarina asks Phani
“Don’t you notice that ABCD is a square?”

Phani disagrees. Using distance formula,


https://dl.doubtnut.com/l/_st1FCV7BknJL
https://dl.doubtnut.com/l/_1E3AgJu7KSqX

decide who is correct and why?

10

(=43
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o Watch Video Solution

9. Show that the following points form an

equilateral triangle A(a, 0), B(-a, 0), C(0, a \/3)


https://dl.doubtnut.com/l/_1E3AgJu7KSqX
https://dl.doubtnut.com/l/_RMwU0qkEwtxC

° Watch Video Solution

10. Prove that the points (-7, -3), (5, 10), (15, 8)
and (3, -5) taken in order are the corners of a

parallelogram.

° Watch Video Solution

11. Show that the points (-4, -7), (-1, 2), (8, 5) and
(5, -4) taken in order are the vertices of a

rhombus. Find its area.


https://dl.doubtnut.com/l/_RMwU0qkEwtxC
https://dl.doubtnut.com/l/_UmOBt1r4dThA
https://dl.doubtnut.com/l/_yf2HCWQ9x4Vy

(Hint : Area of rhombus = 3 X product of

its diagonals)

° Watch Video Solution

12. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(-1,-2), (1,0), (-1, 2), (-3, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_yf2HCWQ9x4Vy
https://dl.doubtnut.com/l/_N3t7BjQ5BGe8

13. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(-3,5),(3,1),(1,-3), (-5, 1)

o Watch Video Solution

14. Name the type of quadrilateral formed, if
any, by the points, and give reasons for your
answer.

(4,5),(7,6),(4,3),(1,2)

| & I


https://dl.doubtnut.com/l/_EcAd0a7X2QfP
https://dl.doubtnut.com/l/_hJbJgxP7HeJQ

| ¥ Watch Video Solution |

15. Find the point on the X-axis which is

equidistant from (2, -5) and (-2, 9).

o Watch Video Solution

16. If the distance between two points (x, 7)

and (1, 15) is 10, find the value of x

o Watch Video Solution



https://dl.doubtnut.com/l/_hJbJgxP7HeJQ
https://dl.doubtnut.com/l/_eZjXPO19lOuM
https://dl.doubtnut.com/l/_GeNh5bOEROzi
https://dl.doubtnut.com/l/_714FcDWVb0pt

17. Find the values of y for which the distance
between the points P(2, -3) and Q(10, y) is 10

units.

o Watch Video Solution

18. Find the radius of the circle whose centre is

(3, 2) and passes through (-5, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_714FcDWVb0pt
https://dl.doubtnut.com/l/_v5iy0ij4xMHy

19. Can you draw a triangle with vertices (1, 5),

(5, 8) and (13, 14) ? Give reason

o Watch Video Solution

20. Find a relation between x and y such that
the point (x, y) is equidistant from the points

(-2, 8) and (-3, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_IfLCO4GwU6SK
https://dl.doubtnut.com/l/_WpaGKQ4cVNWb

1. Find the coordinates of the point which
divides the line segment joining the points (-1,

7) and (4, -3) in the ratio 2:3.

o Watch Video Solution

2. Find the coordinates of the points of
trisection of the line segment joining (4, -1)

and (-2, -3).

o Watch Video Solution



https://dl.doubtnut.com/l/_crqasLDJYhqs
https://dl.doubtnut.com/l/_ginhflMYZpWf

3. Find the ratio in which the line segment
joining the points (-3, 10) and (6, -8) is divided

by (-1, 6) .

o Watch Video Solution

4.1f (1, 2), (4,y), (x,6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

° Watch Video Solution



https://dl.doubtnut.com/l/_7mMaWSLQDy3F
https://dl.doubtnut.com/l/_fc27vV9ABfHq

5. Find the coordinates of a point A, where AB
is the diameter of a circle whose centre is (2,

-3) and B is (1, 4).

o Watch Video Solution

6. If A and B are (-2, -2) and (2, -4) respectively,
find the coordinates of P on AB such that AP

_7 .

o Watch Video Solution



https://dl.doubtnut.com/l/_XrzJz8GFaIQZ
https://dl.doubtnut.com/l/_bVCnRPeGJSSW
https://dl.doubtnut.com/l/_gadwD2Z8th9l

7. Find the coordinates of points which divide
the line segment joining A(-4, 0) and B(O, 6)

into four equal parts.

o Watch Video Solution

8. Find the coordinates of the points which
divides the line segment joining A(-2, 2) and

B(2, 8) into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_gadwD2Z8th9l
https://dl.doubtnut.com/l/_SxnlqxDzpeRK
https://dl.doubtnut.com/l/_7x2gB5YioU9t

9. Find the coordinates of the point which
divides the line segment joining the points (a
+ b,a-b)and (a-b,a+ b)in the ratio 3: 2

internally

° Watch Video Solution

10. Find the coordinates of centroid of the
triangle with vertices:

-1, 3), (6,-3) and (-3, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_7x2gB5YioU9t
https://dl.doubtnut.com/l/_VKOcnweEqkb9
https://dl.doubtnut.com/l/_5Ckh6Br6E4nW

11. Find the coordinates of centroid of the
triangle with vertices:

(6,2),(0,0) and (4, -7)

° Watch Video Solution

12. Find the coordinates of centroid of the
triangle with vertices:

(1,-1), (0, 6) and (-3, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_5Ckh6Br6E4nW
https://dl.doubtnut.com/l/_DH0yrK0wtoRc

1. Find the area of the triangle whose vertices
are:
(1) (2,3), (-1,0), (2,-4)

(2) (_5’ _1)’(3’_5)’ (5,2)

o Watch Video Solution

2. Find the area of the triangle whose vertices

are:


https://dl.doubtnut.com/l/_HkLZxcYyya7I
https://dl.doubtnut.com/l/_JDUCyWsWTxpk

(1) (2,3), (-1,0), (2,-4)

(2) (-59 -1)’(3’-5)’ (592)

° Watch Video Solution

3.Find the area of the triangle vertices are

(0, 0),(3,0) and (0, 2)

o Watch Video Solution

4.n each of the following find the value of 'k,

for which the points are collinear :


https://dl.doubtnut.com/l/_JDUCyWsWTxpk
https://dl.doubtnut.com/l/_YDNQypYZgj00
https://dl.doubtnut.com/l/_I6uRijNK6gbw

(1) (7,-2), (5,1), B )k)

(2) (8’1)’ (k’-4)9 (2,-5)

° Watch Video Solution

5. In each of the following find the value of 'k,
for which the points are collinear :
(1) (7’-2)’ (5a1)9 (3,k)

(2) (8)), (k-4), (2,-5)

o Watch Video Solution



https://dl.doubtnut.com/l/_I6uRijNK6gbw
https://dl.doubtnut.com/l/_aMP5xaAwbDcY

6. Find the value of ‘K’ for which the points are

collinear

(K, K) (2, 3) and (4, -1).

o Watch Video Solution

7. Find the area of the triangle formed by
joining the midpoints of the sides of the
triangle whose vertices are (0,-1), (2,1) and (0,3)

. Find the ratio of this area to the area of the


https://dl.doubtnut.com/l/_55SX5Pq6axtA
https://dl.doubtnut.com/l/_ae4S01igUFQL

given triangle .

A0 -1

(2. 1) D (0, 3)

o Watch Video Solution

8. Find the area of the quadrilateral whose

vertices, taken in order, are (-4, -2), (-3, -5), (3,-2)


https://dl.doubtnut.com/l/_ae4S01igUFQL
https://dl.doubtnut.com/l/_0jLwN8iD31K6

and (2,3)

O Watch Video Solution

9. Find the area of the triangle formed by the
points (2, 3), (6, 3) and (2, 6) by using Heron’s

formula

o Watch Video Solution



https://dl.doubtnut.com/l/_0jLwN8iD31K6
https://dl.doubtnut.com/l/_aJ7xrNIPmroa

1. Find the slope of the line passing through
the given two point

(4,-8) and (5, -2)

° Watch Video Solution

2. Find the slope of the line passing through

the given two point

(0,0) and (+/3, 3)

I ° Watch Video Solution


https://dl.doubtnut.com/l/_byOtAoISjKjn
https://dl.doubtnut.com/l/_5ei5hXwRGAXH

3. Find the slope of the line passing through
the given two point

(2a, 3b) and (a, -b)

° Watch Video Solution

4. Find the slope of the line passing through
the given two point

(a, 0) and (0O, b)

° Watch Video Solution



https://dl.doubtnut.com/l/_5ei5hXwRGAXH
https://dl.doubtnut.com/l/_ejEQSj22QbdD
https://dl.doubtnut.com/l/_k2BkKlH933sU

5. Find the slope of the line passing through
the given two point

A(-1.4,-3.7), B(-2.4,1.3)

o Watch Video Solution

6. Find the slope of the line passing through
the given two point

A(3,-2), B(-6, -2)

o Watch Video Solution



https://dl.doubtnut.com/l/_k2BkKlH933sU
https://dl.doubtnut.com/l/_lUe1RHmWYRVg
https://dl.doubtnut.com/l/_oBXpNpnSrF99

7. Find the slope of the line passing through

the given two point

1 1
A(—3§,3>,B(—7,2§)

o Watch Video Solution

8. Find the slope of the line passing through
the given two point

A(O, 4), B(4, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_oBXpNpnSrF99
https://dl.doubtnut.com/l/_uM20TWinW3U1
https://dl.doubtnut.com/l/_2CscqSHv3os2

Optional Exercise

1. Centre of a circle Q is on the Y-axis. The circle
passes through the points (0, 7) and (0, -1). If it
intersects the positive X-axis at (P, 0), what is

the value of ‘P’?

o Watch Video Solution

2. The side BC of an equilateral triangle DABC
is parallel to X-axis. Find the slopes of the lines

along sides BC, CA and AB.


https://dl.doubtnut.com/l/_r3UumImH5G65
https://dl.doubtnut.com/l/_9SmQX7s3RPN5

° Watch Video Solution

3. Find the centroid of the triangle formed by
the line 2x + 3y - 6 = O, with the coordinate

axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_9SmQX7s3RPN5
https://dl.doubtnut.com/l/_hJ4OEbRaq2xU

1. Where do these following points lie (O, -3),

(0, -8), (0, 6) and (0, 4) on coordinate plane?

° Watch Video Solution

2. What is the distance between (O, -3), (0, -8)
and justify that the distance between two
points on Y-axis is |ys — y1| on coordinate

plane?

o Watch Video Solution



https://dl.doubtnut.com/l/_iU8vAUT4Du0U
https://dl.doubtnut.com/l/_1Gdi2z08xMyG
https://dl.doubtnut.com/l/_1WFYH7tHcBxL

3. Find the distance between points ‘O’ (origin)

and A (7, 4).

o Watch Video Solution

4. Find the distance between A(1, -3) and B(-4,

4) and rounded to two decimal

o Watch Video Solution



https://dl.doubtnut.com/l/_1WFYH7tHcBxL
https://dl.doubtnut.com/l/_TNH0YlOpbhtN

5. Find the coordinates of the point P on AD

such that AP: PD=2:1.

A

° Watch Video Solution



https://dl.doubtnut.com/l/_nam05J8zQSzD

6. Take a point A on X-axis and B on Y-axis and
find area of the triangle AOB. Discuss with

your friends how they do it?

o Watch Video Solution

7.Find the area of the square formed by (0O, -1),

(2,1) (O, 3) and (-2, 1) as vertices.

° Watch Video Solution



https://dl.doubtnut.com/l/_oL2g9uxLx0DC
https://dl.doubtnut.com/l/_sHUsmDNG5Xre

8.Find the slope of AB, where

A(2, 1), B(2, 6)

o Watch Video Solution

9. Find the slope of AB, where

A(-4, 2), B(-4,-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_7VbVBBjU2zwr
https://dl.doubtnut.com/l/_QWUUgKLgDuAQ

10. Find the slope of AB, where

A(-2, 8), B(-2, -2)

o Watch Video Solution



https://dl.doubtnut.com/l/_sIQKt16696rO

